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by # 73,014 172, 938 81, 609 91, 329 -140 -69 -71
H A B 19, 998 46, 787 21, 386 25, 401 -34 -37 3
+ = 550 1, 341 639 702 -3 -1 -2
FBAF—TH 235 598 275 323 -6 0 -6
4BE_-TH 163 389 170 219 0 0 0
4BE=TEH 258 642 281 361 -7 -3 -4
4BFMTH 346 858 410 448 1 0 1
4SBERTH 228 606 274 332 3 -1 4
4BAFENRTH 470 1, 081 456 625 -4 -1 -3
Z B = 1,158 2,719 1,244 1,475 5 1 4
FmEEfA—TH 249 619 297 322 -8 -1 -1
mEMA=TH 151 389 175 214 3 0 3
£/T—TH 490 1,103 479 624 -10 -2 -8
£/ TFZTH 174 397 181 216 4 0 4
£/ TF=TH 250 544 251 293 -4 -1 -3
£/ THETH 330 726 341 385 1 -2 3
£/ THETH 38 90 46 44 2 0 2
£ /J F 19 43 19 24 0 0 0
mAB®—TH 224 437 193 244 1 0 1
RAXZTEH 161 374 167 207 -1 0 -1
MABR=TH 119 318 156 162 1 0 1
RASMTH 246 582 263 319 3 0 3
INET—TH 148 304 142 162 0 0 0
INETZTH 474 1,188 521 667 9 0 9
INBT=TH 233 501 230 271 -2 -1 -1
KET—TH 444 925 414 511 -9 -5 -4
KET—TH 563 1,250 568 682 -3 0 -3
KET=TH 381 837 379 458 -1 -1 0
KETIUTH 370 956 430 526 3 -1 4
KETRTH 292 693 344 349 -8 -1 -7
KETRTH 187 519 237 282 0 -2 2
KETETH 82 224 100 124 0 0 0
MARE—TH 438 1,043 478 565 -10 -3 -1
MARE_TH 442 982 460 522 -2 -1 -1
MARE=TH 634 1,526 710 816 1 -3 4
MAREMNTH 260 633 305 328 10 0 10
MARERTH 568 1, 361 634 1217 -4 0 -4
MARERTH 485 1,176 572 604 5 -1 6
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HEHERTH 413 929 420 509 12 0 12
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£E&—TH 346 800 367 433 3 -1 4
EAZ-TH 753 1,648 748 900 2 1 1
EA&=TH 159 425 175 250 -6 1 -1
EAWMTH 136 254 119 135 -6 0 -6
EAETH 365 950 456 494 -2 -2 0
kR / F 502 1,249 549 700 -5 -4 -1
BEEF—TH 290 638 300 338 0 0 0
WEEF_TH 246 580 264 316 -3 -1 -2
WEE=TH 190 403 186 217 2 0 2
WBEEFLMTH 105 258 108 150 1 0 1
A AB—TH 225 492 229 263 0 -1 1
WM AHB=-TH 166 409 187 222 4 1 3
WAAB=TH 219 580 236 344 1 1 0
WA AHBmTAE 137 402 173 229 0 0 0
WMAABETH 585 1,453 677 176 0 -2 2
B o #h i 9, 951 24,572 11, 500 13,072 -18 -14 -4
[E#—TH 408 1,267 581 686 -1 0 -1
E#g_—TH 486 1,180 573 607 -5 -1 -4
E#%=TH 712 1,628 754 874 -6 -3 -3
E#rm T B 342 763 379 384 -2 -1 -1
E#ATH 392 997 471 526 0 0 0
B o - E 2, 381 5,825 2,755 3,070 7 -4 11
fE—TH 485 1,144 520 624 -1 0 -1
% E_TH 390 963 447 516 4 -1 5
mEHE=TH 261 649 299 350 -2 -2 0
mA#EENTH 432 1,074 498 576 1 0 1
tEBHEERE—TH 7 19 10 9 0 0 0
tEBAHEER-TH 442 1,075 488 587 -13 0 -13
tEBHEER=TH 480 1, 251 573 678 -1 0 -1
tEBAHEEREMTH 484 1,151 508 643 5 0 5
tEBAHEERRATH 268 696 336 360 -6 -1 -5
EmB—TH 716 1,819 850 969 -1 0 -1
EBR_-TH 456 1,111 537 574 3 -1 4
tBHE—TH 446 1,071 513 558 10 0 10
tEBAHEZTH 363 889 408 481 -4 0 -4




#ig Al - BT - FRIOHHEEAO TER27E12B1HIRE
_ " A O W A K

T R i 5 & i | B | aamEm
FEOR O = 14, 005 33, 724 16, 080 17, 644 =21 -16 -5
#E—TH 333 810 391 419 -8 -2 -6
w’E_-TH 808 2,034 971 1,063 -1 -1 -6
#E=TH 564 1,378 635 743 -5 0 -5
R#EOTH 326 | 334 407 -3 0 -3
#ERTH 382 778 363 415 -1 -1 0
i =) 232 47 251 220 3 -1 4
FHN—TH 459 1,097 545 552 -7 -1 -6
= i = 487 1,162 520 642 8 -1 9
FH9=TH 386 1,007 432 575 5 -1 6
F 4 299 586 297 289 -1 -1 0
1] % 2,292 5,407 2,692 2,715 16 3 13
t B E 764 1,869 883 986 2 0 2
FL—TH 278 692 340 352 -12 0 -12
FILZTH 460 1,168 552 616 7 -1 8
FIR=TH 311 805 400 405 -7 -1 -6
FLEMTH 556 1,443 709 734 17 -1 18
FLAETH 206 430 215 215 1 0 1
FILATH 104 223 116 107 4 0 4
F i 41 92 37 55 0 0 0
HEH—TH 183 417 200 217 -13 -1 -12
HH_-TH 37 939 459 480 1 0 1
HEHA=TH 811 1,976 957 1,019 2 1 1
HHMTH 339 813 391 422 -3 -1 -2
EARATH 601 1,505 697 808 3 -1 4
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= g 1, 381 3,334 1, 551 1,783 -1 -3 2
#wEL—TH 219 533 238 295 -4 0 -4
#HEIL—-_TH 241 604 270 334 -3 0 -3
HEIL=TH 246 596 269 327 -2 1 -3
#HEILMTH 132 340 146 194 -1 0 -1
X M #h = 19, 086 42,975 20, 701 22,274 -35 1 -36
b/ A 1,704 3,815 1, 807 2,008 -7 1 -8
5Z-TH 773 1,399 709 690 10 2 8
£=TH 685 1, 541 729 812 -10 1 -11
EMTH 708 1,652 802 850 -4 0 -4
EETH 1,092 2,738 1,339 1,399 -20 2 -22
a 858 2,004 939 1, 065 -4 0 -4
INEA—TH 558 1,021 532 489 5 1 4
INERZTH 933 2,004 1,007 997 11 1 10
I BB 40 106 51 55 -1 0 -1
RKw—TH 290 510 241 269 6 -1 7
KHW=—TH 893 1,557 755 802 5 2 3
KMW=TH 531 1,087 507 580 1 -3 4
KM@ TH 720 1,572 761 811 -1 -1 -6
KMETH 799 1,761 828 933 2 2 0
RKMWATH 533 1,115 538 571 -17 -1 -16
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X fia 1,304 3,163 1,513 1, 650 14 -2 16
=) 52 303 875 422 453 1 0 1
A#—TH 1,673 3,807 1,853 1,954 -24 0 -24
= ] 1, 886 4 371 2,141 2,236 5 4 1
SR—TH 187 476 222 254 -1 0 -1
SR°"TH 340 917 420 497 3 0 3
SR=TH 247 595 296 299 -2 -1 -1
SEROETH X X X X 0 0 0
SRAETH 0 0 0 0 0 0 0
SRE—TH 298 766 361 405 1 -1 2
SRE-TH 206 481 233 248 3 0 3
SRE=TEH 239 566 258 308 -1 -2 1
SREMTH 437 1,050 481 569 -3 -1 -2
SREERETH 164 420 189 231 -2 -1 -1
SREBENTH 326 141 356 385 0 0 0
SREETH 359 859 411 448 1 -1 2
E # th = 9,974 24, 880 11, 942 12, 938 -32 -3 -29
&5—TH 373 758 389 369 4 0 4
fA—TH 609 1,319 648 671 -3 -1 -2
BAAZTH 728 1,515 711 804 -2 -1 -1
£ PN 1,808 4 637 2,185 2,452 -14 -2 -12
E#—TH 595 1,307 626 681 4 2 2
E#H_TH 667 1,659 794 865 -9 0 -9
EH=TH 236 587 291 296 -4 4 -8
E#EMOUTH 219 657 308 349 -3 -1 -2
EHEATH 443 1,121 537 584 2 0 2
HE X 2,188 5,553 2,727 2,826 -8 2 -10
177 (o] 1, 401 3, 804 1,810 1,994 i -3 10
E3] = 707 1,963 916 1, 047 -6 -3 -3
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